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HRSG M& A~QA|ZE A At

1. A=A
1) 27|24 : 33°C 70%RH( BLH& & : 22.49/kg)
2) MLHZEZ : 40%RHO|SH33°C, 40%RH Zotet I &= :12.57g/kg)
3) HRSG Volume : € 5,000m3

2. 2= FotE ALt
1) Z|Z= HRSG W& =& F5t2
5,000m?3 * 1.2kg/m3 * (22.4g/kg — 12.57g/kg)= 58,9809
2) HRSG LH& ZTHE ] = 5,000g
3) M=7| 7tsAl FREE = 5ot
5000m3 * AEE *
4) T T FotF 78,7259

3. Ml& QA2 ALk 4
N M7 EF
2,300m3/h * 1.2kg/m3 * (12.57g/kg — 6.59/kg)=16,753g/h
PARS F=ES=PNPd;
81,6749/(16,753-14,745g) = 40.7hour
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1T Hs7 8¢ &<
1) Pre Filter 15mmAq
2) Rotor 56mmAq

2. Flexible Duct(@125) M2+ &4
1) Flexible Duct 60m 30mmAgq




8 HMISJI &l Alal (2/2)

-\ :
s /77 L
Y /7 1Zdd 1 T
LA/ 1gdd [T 1T s EERERNERRRNNLN
////////[Iiﬂ'lljlll][:;
; 110
4 §E

MMty
AN




Al 23

S Data Al

S 2 X} AX|H dXl =
IHEHER ] A 22.11.07

= 87%RH | 56.8%RH
127 GT AM 09:00

IH EHER ] A 22.11.03

o 70%RH | 46.0%RH
12 7| STACK AM 09:00

IHEHER ] A 22.11.04

= 75%RH | 33.6%RH
22 7| GT AM 09:00

IHEHER ] A 22.11.10

o 97%RH | 55.1%RH
29 7| STACK AM 09:00
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Elelele)

Samsung 64 MP Camera
Galaxy A Quantum(Q)2 &

Samsung 64 MP Camera
Galaxy A Quantum(2)2 &
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